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Solved Examples

1. Draw the lines X'OX and YOY' as axes on the

plane of a graph paper and plot the points


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_h3Ygd6BmpauZ

given below
(i) A(5, 3) (i) B( — 3, 2)

(i) C( — 5, — 4) (iv) D(2, — 6)

o Watch Video Solution

2.In which quadrants do the given points lie ?
(4, —2) (i) ( —3,7) (i) ( — 1, —2) (iv) (3,

6)

o Watch Video Solution



https://dl.doubtnut.com/l/_h3Ygd6BmpauZ
https://dl.doubtnut.com/l/_vH2G42w7sKYs

3. On which axes do the given points lie ?

(i) (7, 0) (i) (0, — 3) (iii) (0, 6) (iv) ( — 5, 0)

° Watch Video Solution

4. The three vertices of a A ABC are
A(1,4), B( — 2,2) and C(3,2). Plot these
points on a graph paper and calculate the

area of /A ABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_TRDrKj6Seoa5
https://dl.doubtnut.com/l/_VJwvcpJJEl6s
https://dl.doubtnut.com/l/_kIXp3w4OAAWK

5. The three vertices of a square ABCD are
A(3,2),B( —2,2) and D( — 3, 3). Plot
these points on a graph paper and hence, find
the coordinates of C. Also, find the area of

square ABCD.

o Watch Video Solution

6. The three vertices of a rectangle ABCD are
A(2,2),B(—3,2) and C( — 3, 5). Plot

these points on a graph paper and find the


https://dl.doubtnut.com/l/_kIXp3w4OAAWK
https://dl.doubtnut.com/l/_av3Ic13oQSKv

coordinates of D. Also, find the area of

rectangle ABCD.

° Watch Video Solution

1. Write down the coordinates of each of the

points P, Q, S and T, as shown in the figure


https://dl.doubtnut.com/l/_av3Ic13oQSKv
https://dl.doubtnut.com/l/_oI9JScz1VTNJ

given on next page.

° Watch Video Solution



https://dl.doubtnut.com/l/_oI9JScz1VTNJ

1. On the plane of a graph paper drawn X'OX
and YOY' as coordinate axes and plot each of
the following points

(i) A(5, 3) (i) B(6, 2) (iii) C( —5,3) (iv)
D(4, — 6)

v) E(—3, —2) (i) F(—4,4) (v
G(3, — 4) (viii) H(5, 0)

(ix) 1(0, 6) (x) J( — 3, 0) (xi) K(0, — 2) (xii) O(O,

0)

o Watch Video Solution



https://dl.doubtnut.com/l/_CyVx0LdxZnqG
https://dl.doubtnut.com/l/_eMG8DpPczUVW

2. For each of the following points write the
quadrant in which it lies.

(i) (—6,3) (i) (—5, —3) (i) (11, 6) (iv)
(1, —4)

) (=17, —4) (vi) (4, — 1) (vii) ( — 3, 8) (viii)

(37 o 8)

° Watch Video Solution

3. Write the axis on which the given point lies.

(i) (2,0) (ii) (0, — 5) (iii) ( — 4, 0) (d) (0, -1)

o Watch Video Solution



https://dl.doubtnut.com/l/_eMG8DpPczUVW
https://dl.doubtnut.com/l/_t4BbdJa7dnrG

4. Which of the following points lie on the x-
axis ?

(i) A, 8) (i) B(4, 0) (iii) C(0, —3) (iv)
D( - 6,0)

(v) E@2, 1) (vi) F(—2, —1) (vii) G( —1,0)

(viii) H(0, — 2)

o Watch Video Solution

5. Plot the point

A(2,5), B( —2,2) and C(4,2) on a graph


https://dl.doubtnut.com/l/_t4BbdJa7dnrG
https://dl.doubtnut.com/l/_CpJJw6dWw9h7
https://dl.doubtnut.com/l/_UUEtvlf2lzUX

paper. Join AB, BC and AC. Calculate the area of

AN\ ABC.

° Watch Video Solution

6. Three vertices of a rectangle ABCD are A(3,
1), B(-3, 1) and C( — 3, 3). Plot these points on
a graph paper and find the coordinates of the
fourth vertex D. Also, find the area of rectangle

ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_UUEtvlf2lzUX
https://dl.doubtnut.com/l/_oxzH9MInqyG5

1. Write down the coordinates of each of the

following point A, B, C, D and E.
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o Watch Video Solution



https://dl.doubtnut.com/l/_6CVB4p9Q4f5Q

Multiple Choice Questions Mcq

1. In which quadrant does the point
(=7, —4)lie?

A IV

B. 1l

C. 1l

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HxbH3ABrW5q9

2.1fz > 0 and y < 0 then the point (x, y) lies

in quadrant

Al

B. I

C. 1l

D. IV

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HxbH3ABrW5q9
https://dl.doubtnut.com/l/_hc4J0lzypiHt

3.1fa < 0 and b > 0 then the point (a, b) lies

in quadrant

A IV

B. I

C. 1

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_c8FPw2zP2hx6
https://dl.doubtnut.com/l/_mJUwVHoqn5xX

4. A point both of whose coordinates are

negative lies in quadrant

Al

B. I

C. 1

D. IV

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mJUwVHoqn5xX

5. The point (other than origin) for which

abscissa is equal to the ordinate will lie in the

quadrant

A.lonly

B.lorll

C.lorlll

D.llor IV

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2XOW3svJWYtn

6. The points ( — 5,3) and (3, — 5) liein the

A. same quadrant
B. Il and Il quadrants respectively
C. Il and IV quadrants respectively

D. IV and Il quadrants respectively

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5aD1IhbKrM8h

7. Points

(1, —1),(2, —2),(—3, —4),(4, — 5)

A. all lie in the Il quadrant

B. all lie in the Il qudrant

C. all lie in the IV quadrant

D. do not lie in the same quadrant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2l2aalGcwbyQ
https://dl.doubtnut.com/l/_FoA32BDPnERf

8.Point (0, — 8) lies

A.in the Il quadrant
B. in the IV quadrant
C. on the x-axis

D. on the y-axis

Answer: D

° Watch Video Solution

9. Point ( — 7, 0) lies


https://dl.doubtnut.com/l/_FoA32BDPnERf
https://dl.doubtnut.com/l/_7wxAwPMMbMzY

A. on the negative direction of the x-axis

B. on the negative direction of the y-axis

C. in the lll quadrant

D. in the IV qudrant

Answer: A

o Watch Video Solution

10. The point which lies on Y-axis at a distance

of 5 units in the negative direction of Y-axis is


https://dl.doubtnut.com/l/_7wxAwPMMbMzY
https://dl.doubtnut.com/l/_S4dKnB0g9mEC

Answer: B

o Watch Video Solution

11. The ordinate of every point on the x-axis is

Al


https://dl.doubtnut.com/l/_S4dKnB0g9mEC
https://dl.doubtnut.com/l/_H7BkESHRMLyN

C.0

D. any real number

Answer: C

o Watch Video Solution

12. If the y-coordinate of a point is zero then

this point always lies

A. on the y-axis


https://dl.doubtnut.com/l/_H7BkESHRMLyN
https://dl.doubtnut.com/l/_0GbhhOwHboCR

B. on the x-axis

C.in the | quadrant

D. in the IV qudrant

Answer: B

o Watch Video Solution

13. If 0(0,0), A(3,0), B(3,4), C(0,4) are

four given points then the figure OABC'is a

A. square


https://dl.doubtnut.com/l/_0GbhhOwHboCR
https://dl.doubtnut.com/l/_vNocdBb23NnC

B. rectangle

C. trapezium

D.rhombus

Answer: B

o Watch Video Solution

14.1f A( — 2,3) and B( — 3, 5) are two given

points then (abscissa of A) - (abscissa of B) = ?


https://dl.doubtnut.com/l/_vNocdBb23NnC
https://dl.doubtnut.com/l/_wcshO0WiNOo4

B.1

D.2

Answer: B

o Watch Video Solution

15. The perpendicular distance of the point

A(3, 4) from the y-axis is

A3


https://dl.doubtnut.com/l/_wcshO0WiNOo4
https://dl.doubtnut.com/l/_pD3kiCNGVgkg

B.4

C.5

D.7

Answer: A

o Watch Video Solution

16. Abscissa of a point is positive in

A.l and Il quadrants

B. I and IV quadrants


https://dl.doubtnut.com/l/_pD3kiCNGVgkg
https://dl.doubtnut.com/l/_PVywvBVYfIvy

C. 1 quadrant only

D. Il quadrant only

Answer: B

O Watch Video Solution

17. The point at which the two coordinate axes

meet is called the

A. abscissa

B. ordinate


https://dl.doubtnut.com/l/_PVywvBVYfIvy
https://dl.doubtnut.com/l/_dMBnK6ssbJP7

C.origin

D. quadrant

Answer: C

° Watch Video Solution

18. The point whose ordinate is 3 and which

lies on the y-axis is

A. (3,0)

B. (0, 3)


https://dl.doubtnut.com/l/_dMBnK6ssbJP7
https://dl.doubtnut.com/l/_B46W7xxAJESk

C.(3,3)

D. (1, 3)

Answer: B

° Watch Video Solution

19. Which of the following points lies on the

liney = 2x + 37

A. (2,8)

B.(3,9)


https://dl.doubtnut.com/l/_B46W7xxAJESk
https://dl.doubtnut.com/l/_EjGZpF3b9zB3

C.(4,12)

D. (5, 15)

Answer: B

° Watch Video Solution

20. Which of the following points does not lie

on theliney =3x +47?

A.(1,7)

B. (2, 10)


https://dl.doubtnut.com/l/_EjGZpF3b9zB3
https://dl.doubtnut.com/l/_i2CkUmxyCrcY

c.(—1,1)

D. (4,12)

Answer: D

° Watch Video Solution

21. Which of the following points does not lie

in any quadrant?

A (3, —6)

B.(—3,4)


https://dl.doubtnut.com/l/_i2CkUmxyCrcY
https://dl.doubtnut.com/l/_9CEczJHJ3JY1

Answer: D

° Watch Video Solution

22. The area of /A AOB having vertices

A(0,6), 0(0,0) and B(6,0) is

A. 12 sq units

B. 36 sq units


https://dl.doubtnut.com/l/_9CEczJHJ3JY1
https://dl.doubtnut.com/l/_twgAEPlHJCCu

C. 18 sq units

D. 24 sq units

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_twgAEPlHJCCu

